axiom’

Bone Level

Components
overview

“nthogyr

A Straumann Group Brand




AXIOM® BONE LEVEL SURGICAL COMPONENTS

AXIOM® BONE LEVEL SURGICAL COMPONENTS

AXIOM® BONE LEVEL SURGICAL COMPONENTS AXIOM® BONE LEVEL PROSTHETIC COMPONENTS

IMPLANTS IMPRESSION
IMPLANT RANGE AXIOM® BL REG AXIOM® BL PX AXIOM® BL REG & PX IMPLANT LEVEL
STERILE HEALING SCREW ®3.4mm ® 4.0 mm : ® 6.0 mm CONVENTIONAL DIGITAL
Cover screw included STERILE Coronal Short Long Digital transfer (single restoration)
17 height 2mm 1Tmm  2mm Tmm 2mm Tmm 2mm Tmm .
| Pop-in transfer
¥ OPIMI00 ®3.4mm @ @ 4.0 mm @ 4.6 mm @52mm @ ©3.4mm @ @ 4.0 mm @ 4.6 mm @52mm @ Manual Gingival
height
- 0P40060 OP46060 0P52060 - PX40060 PX46060 PX52060 €8 Ma,,.,al Tgr,f‘“c?nl
0P34080 OP40080 OP46080 OP52080 PX34080 PX40080 PX46080 PX52080 ? ? ? @
OP34100 OP40100 OP46100 OP52100 PX34100 PX40100 PX46100 PX52100 0.75mm Screw included
PX34120
0P34120 OP40120 OP46120 OP52120 PX40120 PX46120 PX52120 i OPHSA00 OPHSEA00| OPHSS00 | OPHSFS00 i L YES——
OP34140 OP40140 OP46140 OP52140 PX34140 PX40140 PX46140
OP34160 OP40160 PX34160 PX40160 OPPI100S (x7) OPPI100 (x7)
OP34180 OP40180 PX34180 PX40180 5 W ? w ? OPPI1005-4 (x4) OPPI100-4 (x4)
.5mm
Round bur* (INFB20) —_— —_— —_— —_—
Pointer drill (OPPOIST50) OPHS310 OPHSF310  OPHS410 OPHSF410  OPHS510  OPHSF510  OPHS610  OPHSF610 pick-up transfer -
Lindemann bur* (OPR20) fr——— e o e [o—————— [o————— ;
IEICL] e —— P e o ——— o —— 2.5mm “’"“a‘ v I
Gauge
& OPFI205 OPFI205 OPFI205 OPFI205 OPFI205 OPFI205 OPFI205 OPFI205 OPHS320 OPHSF320 OPHS420 OPHSF420 OPHS520 OPHSF520 OPHS620 OPHSF620 Long and short screws
OPFI20L OPFI20L OPFI20L OPFI20L OPFI20L OPFI20L OPFI20L OPFI20L leted 152:21°D1
L J Hexagonal wrench
frmemorae v e i sl frmeme v e e i el froe v b pr i meceweer ) frosee o b par i mewer ) frmemevae o e i meewel froemevae o e i mecewel frmemevae e e i el frosee o b pr i s} 3 5 mm OPPU100 (Xv OPPU100L (X7)
OPID020 OPJID020 OPJD020 OPID020 OPJID020 OPJID020 OPID020 OPID020 . OPPU100-4 (x4) OPPUT00L-4 (x4)
Stepped drill € e s s s e e e s OPHS330 OPHSF330 | OPHS430 OPHSF430 OPHS530 OPHSF530 OPHS630 OPHSF630
Gauge 5 OPFE24S OPFE24S OPFE24S OPFE24S OPFE24S OPFE24S OPFE24S OPFE24S
N e ST e e ST . e ST e ST s . Y E— .. =S — =
> OPFE24L OPFE24L OPFE24L OPFE24L OPFE24L OPFE24L OPFE24L OPFE24L 4.5 mm OPPU10T OPPU102
) . =——— ==
N Tty == s E=Et == = =t EE mamret Tty B el Tty B e E=Ety B = Tty E= = ey B el
OPPU102 OPPU102L
e OPJD024 OPID024 OPID024 OPID024 OPID024 OPJD024 OPJD024 OPID024 OPHS340 OPHSF340| OPHS440 OPHSFA40 | OPHS540 OPHSF340| OPHS640 OPHSFE40
£ Impression ring for @4.0mm @5.0mm
Co— . Ea— . Ea— . C— . E— . Ea— . C— . .
£ pick up transfers
° OPFE305 OPFE305 OPFE305S OPFE305S OPFE305 OPFE305 OPFE305S - -
" s e s ST s ST =R ST 1.5 mm
~ OPFE30L OPFE30L OPFE30L OPFE30L OPFE30L OPFE30L OPFE30L
3 OPROFIL410 OPROFIL510
===l ER ERiewe) E===u! ER ERieve) == ER ERfewsl === ER Effewsl E===11 R ERfevs) [E===11 ER ERieve) === ER ERiersl
1S
OPID030 OPID030 OPID030 OPID030 OPID030 OPID030 OPID030 . .
Axiom® Multi-Level® . .
) ) ) e ) Surgical kit i-g{n -
OPFE365 OPFE365 OPFE365 OPFE365 OPFE365 .
e T e R e e S i T OPROFIL420 OPROFIL520
OPFE36L OPFE36L OPFE36L OPFE36L OPFE36L
=1 F §ime= =1 6 fimee =1 §E fime=s == N §fmwe =1 fE fime=s 3 E ]
OPID036 OPJID036 OPJID036 OPID036 OPJID036 3.5mm
. ) . [ OPROFIL430 OPROFIL530
OPFE425S OPFE425S OPFE42S
— re— e Analog for printed model
* * *
Calibrating film e, 10 11T s, 10 D0 Calibrating film s, 10 D0
Axiom® BLREG OPID042 OPID042 | OPID042
£ ) .
€ OPFE48S
«Q
<
NG OPFE48L W
~N
; s - OPIA100 (x) 152-27-PA (x1 PA-TOOL-O1
OPJDO048 OPIATOO-4 (x4) 152—2_7—I;A—4()((xil)
. e S (1 e R (f
OPTA34L OPTA40L OPTA46L OPTAS2L
Implant mandrel / SHORT MEDIUM LONG SURGICAL DYNAMOMETRIC WRENCH e el el ANTHOGYR
Wrench 20 mm 18 mm 25mm 24 mm 29 mm 30 mm o 2 237 avenue André Lasquin
" " é—ﬁ) Egr 74700 Sallanches - France
= oS s e mm—c S s

OPCV160 e OPCS100 WWW.a nthogyr.com Photo credits: Anthogyr - All rights reserved - Non-contractual photos.

OPMV180 OPCV060 OPMV215 OPCV110 OPMV250 C197_GB - 2019-12

*Not included in INMODOPS3 surgery kit



AXIOM® BONE LEVEL PROSTHETIC COMPONENTS AXIOM® BONE LEVEL PROSTHETIC COMPONENTS AXIOM® BONE LEVEL PROSTHETIC COMPONENTS AXIOM® BONE LEVEL PROSTHETIC COMPONENTS AXIOM® BONE LEVEL PROSTHETIC COMPONENTS

ABUTMENT TI-BASE TEMPORIZATION INSTRUMENTS & SCREWS ABUTMENT

SINGLE & MULTIPLE CEMENT RETAINED RESTORATIONS SINGLE CEMENTED OR SCREW RETAINED RESTORATIONS IMPLANT LEVEL REMOVABLE OVERDENTURE

AESTHETIC Angulation Gingival height @ 3.4mm @4.0mm @ 5.0 mm @ 6.0 mm Ti-base FLEXIBASE TEMPORARY LOCATOR® BALL ABUTMENTS
ABUTMENTS 0° 0.75 mm - OPAT400 OPAT500 - . . . . ABUTMENTS @ short hexagonal wrench & INCHECV it »
Axiom® Multi-Level® Torq Control ~ ) Coronal height: 3.5 mm Size L block g Definitive
/zh 1.5 mm - OPAT410 OPAT510 OPAT610 P thetic Kit Uni ld tri 3 AL N-=m — _— STERILE abutment
Q’cm/ f 2.5 mm ) OPAT420 OPAT520 OPAT620 rostnetic Ki niversa ynamome ric ’ i M1.6 Black screw included ﬁlr.lg;l‘,:al ®40mm @50mm ﬁ",‘g;l\éal ?5.0 mm ’Z-SX
M1.6 Black screw included 3.5 mm - OPAT430 OPAT530 OPAT630 wrench elg elg Nim @ Long hexagonal wrench | - INCHELY N.cm
4.5mm - OPAT440 OPAT540 OPAT640 - 4 OPTSIE 1.5 mm 01697 1.5mm AXDAQT15
i M 1.6 titanium screw
0.75 mm - OPAT40-7 OPAT50-7 - Ky , 2.5 mm 01698 2.5mm AXDA025
OPTS160 15 mm OPATIT OPATA1T OPATS17 ) ¢/ @ Hexagonal wrench 1.5 mm w '% 1.5 mm % ’?C’“de" Gingival @34mm  @40mm  @50mm  P6OmMm | gy hexagonal wrench Egd INCHEXLV — 1695 35 mm AXDAOSS
Extractible with INEXPS/L 2.5mm OPAT32-7 OPAT42-7 OPAT52-7 - Extractible with INEXPS/L OPFLEX413 ~ OPFLEX513 OPBASE-C501-L } height :
3.5mm OPAT33-7 OPAT43-7 OPAT53-7 - y || OPTs161 @ Short hexagonal 4.5 mm 01016 4.5mm AXDAD45
y —
4.5mm OPAT34-7 OPAT44-7 OPAT54-7 - f/ { Hexagonal wrench mandrel INMHECV 5.5 mm 01017 -
0.75 mm - OPAT401 OPAT501 - . ' :
1 OPAT311 OPATATI OPATSI1 OPAT61! Sxtractible with INEXE/E IR - OPTP400 OPTP500 - Impression Transfer m 08505
I ->mm 2.5mm 2.5mm @ Long hexagonal A Coimponents
2.5mm OPAT321 OPATA21 OPAT521 OPAT621 OPFLEXA23 | OPFLEXERS mandrel -
3.5mm OPAT331 OPAT431 OPAT531 OPAT631 OPBASE-C502-L
=
4.5 mm OPAT341 OPAT441 OPAT541 OPAT641 @ XL hexagonal i
s —_——— Analo Analo s
23 0.75 mm - OPAT402 OPAT502 - mandrel INMHEXLV g 08530 g !
L
1.5 mm - OPAT412 OPAT512 - )
25mm - OPATA422 OPAT522 - 3.5mm 3.5mm 1.5 mm OPTP310 OPTP410 OPTPS10 oPTPE10 | Torq Control o S . ) AXDATOO
: : ; N Locator package,
3.5mm OPAT432 OPAT532 OPFLEX433  OPFLEXS33 OPBASE-C503.L Dynamometrical wrench standard rang% @ & @ 085192 (x2)
4.5 mm - OPAT442 OPAT542 -
ingi : Dynamometrical ratchet ) ) Clear” std . 08524
STANDARD Angulation Gmg'lval Cort:mal ?3.4mm @ 4.0 mm 350 mm 3 6.0 mm o0 0 : OR ? Al COP Cast coping ® 4.0 mm ® 5.0 mm W);ench ?ﬁ INCCD retention insert 085
ABUTMENTS height  Height "oink" STD
STERILE 0° 4 mm OPST314 OPST414 OPST514 OPST614 a & P RETAINED RESTORATIO Manual pine o' 2 G 08527
Short disconnector and retention insert
/zh 1.5 mm Standard sk priEctive e @®34mm @40mm @G50mm @6.0mm 25 mm ! { %g__ INEXPS S -
"l 6 mm OPST316 OPST416 OPSTS16 OPST616 : : OPTP320 OPTP420 OPTP520 opTP620 | gripper for Axiom® BL abt Blue" extra light 08529
- abutment or standard 4mm @ Hexagonal wrench _ retention insert -
‘ abutme OPPC304  OPPC404  OPPC504  OPPC604 , =
i il e e ﬂ} 2.5 4 mm OPST324 0PST424 OPST524 OPST624 transfer OPTTI00 (x]) / OPTTI00-5 (x5) e ; .- ‘ Long disconnector and Locator package, S BB 0554022 Dalbo PLUS “
| 5mm . i %‘— INEXPL -2 (x.
6 mm OPST326 OPST426 OPSTS26 OPST626 Standard abutment ®3.4mm ©4.0 mm ?50mm ©6.0mm 6 mm OPFLEXC403 OPFLEXC503 gripper for Axiom® BL abt extended range system 055752
OPTS160 Analog ; OPPC306 ~ OPPC406  OPPC506  OPPC606 Grey" @ o8558
: : 4mm OPST334 OPST434 OPST534 OPST634 Height 4 mm Black M1.6 prosthetic O-retention insert
Extractible with INEXPS/L 3.5mm screw OPTS160 "red" extra light
6 mm OPST336 OPST436 OPST536 OPST636 Peek protective cap ®34mm ©Q40mm @50mm @6.0mm 3.5mm OPTP330 OPTP430 OPTP530 OPTP630 xtra lig @ ossas
= OPSA304 OPSA404 OPSA504 OPSA604 for standard retention insert
15mm  6mm - OPST416-15 OPSTS516-15 - abutments Amm Indexed  OPCA304  OPCA404  OPCAS04  OPCAG604 Titanium M1.6 ‘Orange”light o o015
i - prosthetic screw OPTST61 retention insert
] ] ] ] _ | N . " " :
Nonindexed ~ 2>Mm  6mm OPST426-15 OPST526-15 Height 6 mm indowd ~ OPCR304  OPCRA04  OPCRS04  OPCR604 (sz’ ] ==———1% rg{:ﬁg(}ﬂi‘:g? @ 08547
° | — S
23 35mm  6mm - OPST436-15 OPST536-15 - M1.6 laboratory screw OPTS162 struments
15 mm 6 mm : OPST416-23 OPST516-23 : OPSA306 OPSA406 OPSA506 OPSA606 6mm  Indexed  OPCA306 ~ OPCA406 ~ OPCA506 ~ OPCA606 152-27-SAA SATOOL-01 4.5 mm OPTP340 OPTP440 OPTP540 OPTP640 Dalbo hand
> s | screw |
2.5mm 6 mm - OPST426-23 OPST526-23 - . N . Locator mandrel . .
' ~ Non OPCR306 OPCRAOG OPCRS06 OPCRE06 Screw driver for SA SATOOL-01 08913 tightening
i indexed . 072609
Non indexed 3.5mm 6 mm - OPST436-23 OPST536-23 - spring
MULTIPLE SCREW RETAINED RESTORATIONS ABUTMENT LEVEL MULTIPLE SCREW RETAINED RESTORATIONS ABUTMENT LEVEL INSTRUMENTS & SCREWS
MULTI-UNIT @48 mm/R MULTI-UNIT CONVENTIONAL DIGITAL YNNI MULTI-UNIT - (ferea @48mm/R  esomm/n  [TVEIEOINE @48mm/R  @40mm/N MULTI-UNIT @48mm/R Wrench for straight MU abt E=—a  muwio
Daomm/N ®40mm/N | - . Wenchfor e
ABUTMENTS £ Pop-in transfer ¢48mm/R o 48 mm /R for analog [TSTRETIER cap [STERILE m MUCAP (x1) m MUNCAP Flexibase Black screw ﬂL m Tltlf?lnlum provisional Mandrel for straight MU abt s} MUM100 Locator key $ O’riengc °
STERILE \ 5 gs a Digital transfer for printed MUCAP-4 EXZ;) 15 included efpIne Long mandrel for straight MU abt e MUM100L 08260 INCOIO
/ Manual model i MUA200 (x1 "-"“ MUFLEX MUNFLEX
’Nﬁ} ctrainth ctrainth a""a MUT200 (x7) | MUNT200 (x]) ks ode Protective analog @ MUA200-4 (x4) @ MUNA200 MU140 Short prehensile tool for MU ) MUWS
b P raig ° ° raig MUT200-4 (x4) | MUNT200-4 (x4) P SSNemJl o .
Gingival 18° angulated 30° angulated ‘ ~ _ Castable coping
e ® — MU black 1.6 screw [ OPMU160
MU [ blagk screw height Indexed Non indexed Indexed Non indexed Pick-up transfer T 1 Castable coping |— MUC300 H MUNC300 MU titanium M1.4 screw MUC100 MUNC100
included with angulated P t E n included MU titanium M1.6 laboratory screw g OPMU16T Locator 3 in Tkey Long octogonal e
abutments 0.75 mm OPMUO-0 = = OPMU30-0-IN OPMU30-0 OPMUNO-0 A Long and short 151-03-DT-MU | 151-04-DT-MUN CoCr castable coping o) | - n{; MUCA00 i - MUNCA00 Manual (blue) OPMU161-4 08393 mandrel /O ring INMOILO
e Mu 76% MUTI00 () MUNTIOO (1) - - o ' Peek provisional coping MU black 1.4 screw o MU140
. OPMUO-1 OPMUT18-T-IN OPMU18-1 OPMU30-1-IN OPMU30-1 OPMUNO-1 include - MUNTI00-4 (x4 . —
OPMU160 1.5mm MUTI00-4 (x4) b - Straight pacific ring © 3 MUNPACI00 MUFLEXC MUNFLEXC ML; t(/jta:/um M1.4 screw T ?/\U titanium M1t.ﬁ laboratory screw S MUT407
25mm = OPMUO-2 OPMUIE-2IN  OPMUI82 ~ OPMU30-2IN  OPMU30-2 OPMUNO-2  |ISCISEIEEIH AReE el [P et Laboratory " nesae E i | MUt ot
Analog pacific ® MUNPACT10 scan adapter ; ' @Wal ! e 15 ; : ;_ (bluel) anium WL faboratory screw S MU141 Short octogonal —
3.5mm OPMUO-3 OPMUT8-3-IN OPMU18-3 OPMU30-3-IN  OPMU30-3 OPMUNO-3 A WU ble i — e <5 Nﬁ Leen )} : g & MU laboratory short mandrel / O'rin
Iue M1. SO PA (] | & MUC200 MUNC200 aboratory short screw E———— MUTI101 andre ing INMOICO
POl MUA00 (x7) | MUNAI10O (x7) | 151-03-PA (x7) X))} paTooL-01 (RGN pacific SATOOL-01
4.5mm OPMUO-4 B B E B OPMUNO-4 MUA100-4 (x4) | MUNA100-4 (x4) | 151-03-PA-4 (x4) | 151-04-PA-4 (x4) MUNPAC120 151-03-5A0 151-04-5A0 3 MU laboratory long screw = MUTI102

® MU titanium screw MU140Z included —® MU black screw MUT40 included ® MU laboratory screw MU141 included



